Frequency of vision f; = 500MHz = 500 x 10° Hz
Frequency of sound f, = 505MHz = 505x10° Hz
Speed of electromagnetic waves C=3.0 x 10* m/s

Wave length of vision A; =?
Wavelength of sound A; =?

. c 3 x108
Wavelength of visionA; =— = = = .
1 1" 500 x106 0.6m=60cm
c 3x108
Wavelength of vision A =—= = =
A 505x106 0.59m=53cm

Frequency f = N/t= 48/60 0.8 Hz
WavelengthA=10m
Velocity V =?

Since, Vv=fA=0.8x10=8m/s

In aripple tank 500 wave

eed of the wave is 3.5 ms’ ! then find the wavelength of the waves.
. Time taken t = 10 Sec

Number of waves = 500 wave

Time period T = N .;00
o |
= —z ——= =50 hz
Frequency f= 0.02

Speed of wave V 3.5 m/sec
WavelengthA=?

le“Eth of stringL=1.3m
“’,‘q“enw f; = 500 Hz
avehnmh As=?
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Speed V =7

21 2x1.3
since, A3 = 3 - —=087M

3
V=f;A;=0.87 X 500=435 m/S

y = 1.66 R = 8334 J/K mol.
{ Helium m = 4 kg/kmol Speed =V =?

he speed 0 din
Temperature T = g
Mass of 1 kilo mole o

m Initial temperature To= 0°C+273=273 K
Final temperature T =22 + 273=295K
Initial speed Vo = 332 m/sec
Final Speed V =7

0 tunin fo:ksPapd ive 4 beats per second. On loadin sliphtly wit

et 3 beats per second. What is the frequency of Q before and after

Number of beats before loading N = 4
Number of beats after loading N/= 3
Frequency of tuning fork P f, = 512 cycle/s
Frequency of tuning fork Q before loading fq =?

O :

The number of beat i
S per second is equal to the difference in frequencies of

the two sources. So
- 50 the frequency of tuni
tuni
fr—~fg=14 rig fork Q before loading, we have:
fa=1f,t4

Th
us the frequency of tuning fork Q is eith
er,

fo =f 3
Or f: = { :_*41-::22 + 4 =516 cycle/s
Similarly, after loading the frequ i Byslyis
fp—1 = ency of Qs
Q*13
fp &+~ . ¢/
P fQ
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hus either the frequency of Q is either,
() =fp +3=51243=515
requency of Qis;
fo=fp —3=512—-3=509 1
gince after loading the number of beats decreases, so the frequency of Q

pefore loading is given by;
fo =516 Hz e

After frequency of Q after loading
f/ =515 Hz
on a sunny day, the speed of sound in.the air.is'340.ms"}:two tuning forks A
ed simultaneously. The wavélength of the sound emitted are
‘ produce per;se 3

or the f

Wavelength of fork A=A;=1.5m
Frequency of fork A = f; = V/ A, = 340/1.5 = 226.7 Hz
Wavelength of fork B=A;=1.68 m

Frequency of fork B = f, = V/ A1 = 340/1.68 = 202.4 Hz
Number of beats N =?

N=f —-f=226.67—-202.38 =24 beats

As sound source vibrates at. 200Hz and is receding from é-’;;ét.i_gn'a_' -_observe’r
1 what frequency does the

at 18 ms™, If the speed of sound is 331ms:! then
Observer hear?
L\__M Source frequency f =200 Hz Speed of source a =18 m/f
Speed of sound V =331 m/s The observed frequency f'=?

Since f = id f= = % 200 = 189.7 Hz

Length of a closed pipe L1=3.6 M

Length of an open pipe L2 =?
(fl)open= (fl)cloud

V/Z L. = V/ : 3 B

2L, =41,
L;=21;,=2%x3.6=7.2mM
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